
1333 842 538 281 (2017-10) EcoFlow linking elements | MPS 7.0

00137587

G
D

H

B

E, F

CA

0013758700137588

50

100

b + 5

h

ca. 2
000

00137588

I

C

D

EFG

B

H

A

Application 1: manual slide section Application 2: corner frame

For simple and efficient planning, we recommend using 
MTpro! See pages 12 and 13 for more information.

Application 1 No.

A 1 x EcoFlow conveyor track with stop plate 3 842 998 278

B 4 x 45x45 strut profile 3 842 993 737

C
12 
x

45x45 bracket 3 842 523 561

D 4 x 45x45L strut profile 3 842 993 737

E 4 x 45x5 cap (with hole) 3 842 548 797

F 4 x Leveling foot 3 842 352 061

G 2 x 45x180 bracket 3 842 523 583

H 1 x 45x45L strut profile 3 842 993 737

I 4 x 45x45 bracket 3 842 523 561

Application 2 No.

A 4 x 45x45L strut profile 3 842 993 737

B 1 x 45x45L strut profile 3 842 993 737

C 1 x 45x45 cap 3 842 548 753

D 6 x 45x45 bracket 3 842 523 561

E 1 x 45x45 cap (with hole) 3 842 548 797

F 1 x Leveling foot 3 842 352 061

G 6 x Inner bracket 3 842 535 571

H 1 x Table top supports (set) 3 842 521 677

See also technical data (page 209)



188

00121460

(2x)(2x)

L

L

M8 HS 10-
M8 x 20

42

10
0 B

A

Ø8

Ø8

76

10
 ..

. 2
3

00109463

73

2,
5 

...
 4

M8x20

00109457

F

E

00111378

9042

L

G
C

F

E

00139030

100

45

4

8

40

30

E

F

H

D

G

MPS 7.0 | Components 3 842 538 281 (2017-10)

Supporting brackets 
Foundation brackets 
Table top supports

L (mm) ESD No.

A Left supporting bracket, with fastening material for 10 mm slot; material: sheet steel; 
powder-coated, RAL 7037

255
ESD

3 842 536 119

335
ESD

3 842 536 121

415
ESD

3 842 536 123

495
ESD

3 842 536 125

B Right supporting bracket, with fastening material for 10 mm slot; material: sheet steel; 
powder-coated, RAL 7037

255
ESD

3 842 536 120

335
ESD

3 842 536 122

415
ESD

3 842 536 124

495
ESD

3 842 536 126

C Foundation bracket; material: sheet steel; galvanized 160 20
ESD

3 842 146 815

210 20
ESD

3 842 146 848

D Table top support, with fastening material for 10 mm slot 2 3 842 521 677

E M8x20 T-bolt 100 3 842 528 715

F M8 flange nut 100 3 842 345 081

G Floor dowel 100 3 842 526 560

H Table top 3 842 998 250



� 2093 842 538 281 (2017-10) � Technical data | MPS 7.0

Manual linking system (EcoFlow)

00109786

Ø24

11
,5 21

9,
5

Ø31

Ø
15

,8

F = 500 N

F

00123910

Fmax (N) 500

Fmax (N) 1000 1500

Point load

Distributed load

EcoFlow ball roller

3 842 541 008 (see page 139)

Frame for corner table top

(see page 133)


	Manual Production Systems
	IVZ
	Components
	Supporting brackets
Foundation brackets
Table top supports




